
 
PLAYER 1  _____________________________________________ 
 
PLAYER 2  _____________________________________________ 
 
 

(TO BE PLAYED IN PAIRS) 
YOU WILL NEED A DIFFERENT COLOUR PENCIL EACH 
AND TWO DICE BETWEEN YOU. 
PLAYER 1 GOES FIRST - 
THROW BOTH OF YOUR DICE; SUBTRACT                  
‘YOUR  NUMBER’ FROM 100 AND COLOUR IN THE  
ANSWER WITH YOUR OWN COLOUR PENCIL. 
E.g. IF YOU THROW  ‘3’ AND ‘4’, THIS CAN BE EITHER ‘34’ 
OR ‘43’. 

100 — 34 =   66      100 — 43 =  57 
 
SO YOU COLOUR IN ‘66’ OR ‘57’ . IF THE ANSWER HAS 
ALREADY GONE YOU WILL HAVE TO MISS A GO! 
THE PLAYER WITH THE MOST COLOURED IN ANSWERS 
WINS. (IF YOU LIKE YOU CAN KEEP A TALLY!) 

89 79 69 59 49 39 

88 78 68 58 48 38 

87 77 67 57 47 37 

86 76 66 56 46 36 

85 75 65 55 45 35 

84 74 64 54 44 34 

    


